
1600 Chestnut St
Philadelphia, PA  19103

P H I L A D E L P H I A , P A



02.24.25
1600 Chestnut St
Philadelphia, PA  19103



1600 Chestnut St
Philadelphia, PA  19103

RL.1 FACE LIT CHANNEL LETTERS ON A RACEWAY

BS.1

BG.2

RL.2

RL.1 BG.1

BG.2

ALUMINUM ACCENTAA.1

ALUMINUM ACCENTAA.2

BS.1 S/F ILLUMINATED CABINET SIGN

RL.2 FACE LIT CHANNEL LETTERS ON A RACEWAY

BRAND GRAPHICS ON GLASSBG.2

BRAND GRAPHICS ON GLASSBG.1
AA.2

AA.1

02.24.25



3.0

ILLUMINATED CHANNEL LETTERS ON A RACEWAY (Qty 1)RL.1

CROSS SECTION VIEW
SCALE: X = 1'-0"

W
A

L
L

2

3

4

5

6 8

7

9

10

12

13

14

11

15

16

1

5"

17

3”

1"
18

1. .040" X 3” PRE-FINISHED ALUMINUM COIL (WHITE INSIDE) (SEAMS IN CORNERS OR TOP) PAINTED TO             
        MATCH TRIMCAP COLOR P-1
2. 040 ALUMINUM BACKS
3. PRINCIPAL LED QUICK MOD 2 LEDs
4. 0.150 7328 WHITE POLYCARBONATE FACES
5. 1" PRE-FINISHED JEWELITE CHEMICALLY BONDED TO FACES (SEAMS AT THE TOP) HUNTER GREEN
6. #8 - 1/2" PAN HEAD SCREWS (NO MORE THAN 24" APART)
7. 1/4" DIA. WEEP HOLES W/ .063" DRAIN HOLE COVER
8.  7/8" ELECTRICAL HOLE / 1/2" COUPLER WITH FLEXIBLE CONDUIT TO POWER SUPPLY  BOX
 (IN MIDDLE OF LETTER UNLESS NOTED OTHERWISE)
9. 6” H x  D ALUMINUM RACEWAY EXTRUSION W/ REMOVABLE TOP COVER5"
 W/ 1/4" DIA. WEEP HOLES - PAINTED TO MATCH BUILDING COLOR
10. LED POWER SUPPLY ON 1/2" STANDOFF FROM BOTTOM OF RACEWAY
11. TOGGLE SWITCH MOUNTED TO RACEWAY / MOUNT TO TOGGLE FRONT TO BACK
12. FLEXIBLE CONDUIT W/ WEATHER TIGHT FLEX CONNECTOR (15 FT. MIN. LENGTH)
13. 1/4" THICK MOUNTING STRAPS
14. MOUNTING HARDWARE TO SUIT FIELD CONDITIONS 
15. #10 X 1/2" LONG TEK SCREWS
16.  #8 X 1/2" LONG SELF TAPPING SCREWS
17.  RIGID CONDUIT THROUGH WALL WITH 1/2" - 1" STUB BEYOND INSIDE WALL
      INSTALLER TO FOLLOW LOCAL CODE.
18. "C" CHANNEL OR EQUAL BRACING  AS REQUIRED

NOTES:
1. PHOTO CELL 
2. ELECTRICIAN TO ADD A TIMER AT THE SERVICE PANEL
3.    UL STICKER VISIBLE TO GROUND & JONES STICKER

SPECIFICATIONS:

100  LED PRINCIPAL LED QWICK MOD 2
        P: 80 W TOTAL
        I:   6.67 A DC

2      60 W 120V/12V PRINCIPAL LED POWER SUPPLY
        2 CIRCUITS

1 SWITCH ON THE SIDE OF THE RACEWAY
1 PHOTO CELL

OVERALL SQUARE FOOTAGE: 72.69 SQ FT

N.T.S

48”

218 1/16”

10”

1600 Chestnut St
Philadelphia, PA  19103

EXTERIOR
VIEW

NOTE: WALL TO BE PAINTED GREEN (PMS 3537 C) BY THE GC

02.24.25



4.0

ILLUMINATED CHANNEL LETTERS ON A RACEWAY (Qty 1)RL.2

CROSS SECTION VIEW
SCALE: X = 1'-0"

W
A

L
L

2

3

4

5

6 8

7

9

10

12

13

14

11

15

16

1

5"

17

3”

1"
18

1. .040" X 3” PRE-FINISHED ALUMINUM COIL (WHITE INSIDE) (SEAMS IN CORNERS OR TOP) PAINTED TO             
        MATCH TRIMCAP COLOR P-1
2. 040 ALUMINUM BACKS
3. PRINCIPAL LED QUICK MOD 2 LEDs
4. 0.150 7328 WHITE POLYCARBONATE FACES
5. 1" PRE-FINISHED JEWELITE CHEMICALLY BONDED TO FACES (SEAMS AT THE TOP) HUNTER GREEN
6. #8 - 1/2" PAN HEAD SCREWS (NO MORE THAN 24" APART)
7. 1/4" DIA. WEEP HOLES W/ .063" DRAIN HOLE COVER
8.  7/8" ELECTRICAL HOLE / 1/2" COUPLER WITH FLEXIBLE CONDUIT TO POWER SUPPLY  BOX
 (IN MIDDLE OF LETTER UNLESS NOTED OTHERWISE)
9. 6” H x  D ALUMINUM RACEWAY EXTRUSION W/ REMOVABLE TOP COVER5"
 W/ 1/4" DIA. WEEP HOLES - PAINTED TO MATCH BUILDING COLOR
10. LED POWER SUPPLY ON 1/2" STANDOFF FROM BOTTOM OF RACEWAY
11. TOGGLE SWITCH MOUNTED TO RACEWAY / MOUNT TO TOGGLE FRONT TO BACK
12. FLEXIBLE CONDUIT W/ WEATHER TIGHT FLEX CONNECTOR (15 FT. MIN. LENGTH)
13. 1/4" THICK MOUNTING STRAPS
14. MOUNTING HARDWARE TO SUIT FIELD CONDITIONS 
15. #10 X 1/2" LONG TEK SCREWS
16.  #8 X 1/2" LONG SELF TAPPING SCREWS
17.  RIGID CONDUIT THROUGH WALL WITH 1/2" - 1" STUB BEYOND INSIDE WALL
      INSTALLER TO FOLLOW LOCAL CODE.
18. "C" CHANNEL OR EQUAL BRACING  AS REQUIRED

NOTES:
1. PHOTO CELL 
2. ELECTRICIAN TO ADD A TIMER AT THE SERVICE PANEL
3.    UL STICKER VISIBLE TO GROUND & JONES STICKER

SPECIFICATIONS:

100  LED PRINCIPAL LED QWICK MOD 2
        P: 80 W TOTAL
        I:   6.67 A DC

2      60 W 120V/12V PRINCIPAL LED POWER SUPPLY
        2 CIRCUITS

1 SWITCH ON THE SIDE OF THE RACEWAY
1 PHOTO CELL

N.T.S

1600 Chestnut St
Philadelphia, PA  19103

NOTE: WALL TO BE PAINTED GREEN (PMS 3537 C) BY THE GC

EXTERIOR
VIEW

OVERALL SQUARE FOOTAGE: 72.69 SQ FT

48”

10”

218 1/16”

02.24.25



5.01600 Chestnut St
Philadelphia, PA  19103

ADJUSTABLE DISTANCE WITH 
TELESCOPIC SQUARE TUBING

OVERALL SQUARE FOOTAGE: 7.07 SQ FT

#7328 WHITE ACRYLIC

P-1

V-1

V-2 WHITE

 & V-2 (BACK)

 -  FRONT FACE ILLUMINATED / BACK FACE VINYLINTERIOR

- 24 LED - PRINCIPAL LED QWIK MOD 2
 P: 19.2 W TOTAL       

        I:  1.6 A DC
- 1 INTERNAL MINI POWER SUPPLY  P-OH060-12-MD
- 1 SWITCH

FRONT VIEW - ILLUMINATED 
SCALE: X = 1'-0"

36”

36”
1/4” MOUNTING PLATE
ATTACH TO CEILING WITH 
LAGS AND ANCHORS
HARDWARE TO SUIT LOCATION

D/F ILLUMINATED FRONT FACE / VINYL BACK 
HANGING, SIDE VIEW  
SCALE: X = 1'-0"

5”

ELECTRICAL
REFERENCE

UL THREE PRONG PLUG -WHITE CORD 
EXIT VERTICAL 1” BEFORE PLATE - 30” LENGTH

CORD TO LEFT 
VERTICAL WHEN 
VIEWED FROM 
INSIDE

BACK VIEW 
NON-ILLUMINATED
WHITE VINYL LOGO
SCALE :  N.T.S.

6.    UL THREE PRONG PLUG AND CORD - WHITE -  EXIT VERTICAL BEFORE PLATE - 30” LENGTH
7.       UL STICKER VISIBLE TO GROUND & JONES STICKER ON TOP  

NO WEEP HOLE

TELESCOPIC SQUARE TUBING

EXTERIOR
VIEW

02.24.25



6.01600 Chestnut St
Philadelphia, PA  19103

ALUMINUM ACCENTS (Qty 2)AA.1 FRONT / AA.2 SIDE

EXTERIOR
VIEW

N.T.S

24”

AA.1 FRONT

565 1/2” V.I.F.

N.T.S

24”

AA.2 SIDE

911 1/2” V.I.F.

24” H x 6” D 0.063 BRAKE FORMED ALUMINUM “C” CHANNEL PAINTED , P-2
SLIDING OVER A REVERSED CHANNEL MOUNTED TO BUILDING

MP STOCK BLACKP-2

02.24.25



7.01600 Chestnut St
Philadelphia, PA  19103

OPTION 2 - DIGITALLY PRINTED FIRST SURFACE BRAND GRAPHICS

110”

112”

BG.1

BG.01 OPTION 2 (COPY 45% OF GLASS WIDTH)  

02.24.25



EXTERIOR
VIEW

8.01600 Chestnut St
Philadelphia, PA  19103

DIGITALLY PRINTED FIRST SURFACE BRAND GRAPHICSBG.2

EXTERIOR
VIEW

110”

112”

BG.02.1  BG.02.2  

BG.02.4  

112” 112” 112”

110”

BG.02.3  

02.24.25


